0.5 1.0 15 2.0 25 3.0

0.0

0.5 1.0 15 2.0 25 3.0

0.0

0.5 1.0 15 2.0 25 3.0

0.0

A Poi INAR(1) sim.
Vv Gauss AR(1) sim.
—— Gauss AR(1) theo.

3.0

25

RMELwithGausstheo

A Poi INAR(1) sim.
Vv Gauss AR(1) sim.
—— Gauss AR(1) theo.

3.0

25

A Poi INAR(1) sim.
Vv Gauss AR(1) sim.
—— Gauss AR(1) theo.

A Poi INAR(1) sim.
Vv Gauss AR(1) sim.
A —— Gauss AR(1) theo.

3.0

25

a=0.33, T=250

A Poi INAR(1) sim.
Vv Gauss AR(1) sim.
—— Gauss AR(1) theo.

3.0

25

0=0.33, T=2500

A Poi INAR(1) sim.
Vv Gauss AR(1) sim.
—— Gauss AR(1) theo.

A Poi INAR(1) sim.
A Vv Gauss AR(1) sim.
—— Gauss AR(1) theo.

3.0

25

0a=0.55, T=250

A Poi INAR(1) sim.
Vv Gauss AR(1) sim.
—— Gauss AR(1) theo.

a=0.8, T=75

0a=0.8, T=250

0.5 1.0 15 2.0 25 3.0

0.0

a=0.55, T=2500

A Poi INAR(1) sim.
Vv Gauss AR(1) sim.
—— Gauss AR(1) theo.

A

0a=0.8, T=2500




